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. is convergent, but converse is not true,
B.Sc./B.Sc. B.Ed. (Part-II)
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Advanced Calculus : Find the value :
Time : Three Hours] | [Ma-ximum Marks : 50 lim [[E{T [EJE[ET [n+1]”J”H
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Note : Answer any two parts from each question. All () /=1 goit & aifiracer =7 gdeqor HIfeg :
questions carry equal marks.

x 1 x 1.3 x° 135 X7
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g8 / Unit-1 - ' e
_ Test the convergence of the followin
1. (o) Tog =ifvT fF o FrOw ifsert Sof series : )
st Bt ], feq faeim s =<
_ b 7
N x, 1.2 13 x° 135 7
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TS / Unit-IX TRTE / Unit-1
: = Hidqegar aeIon
2. (a) frafaias &1 x=0 W 3. (@) A f(x, Y)=xt+ap—-3y% H (x-—1) 3R
LU LR | (v+2) & Tt ¥ gER HIfE
V/x _q - : — _
e v-l., S x %0 Expand the function f(x, )= x%+ xy —)?2
F(x)=1"*+1 in powers of (x—1) and (y+ 2).
0, Sl x=0 '
by afg u=x+y-—z, v=x-—y+z,
Test the continuity of the following w=x2+32+22 -2y Hr Twizu &
function at x=0: | . .
o{u,v,w)
elfx _1 .a__=
, when x=0 (x,»,2)
(_):) ”.‘-L’
0, when x=0 If r.';=x—|—y-—z, v=Ex-—y+z,

i e w=x2+3?+2z2_2yz then show that
(b) AW wH HAFHA fer@t |

) 8(u, v, w) _

dlx,y,z
State and prove the Lagrange’s mean (x:3,2)

value theorem. -
(c]_TI'HTI_z =f(x,y), SRl x=¢e'+e¥ TH
(@) FE f(x)=x3— 622 + 11x— 6% Torg A . y=e¥—ev, a9 fog =ifem .
gAg 1 A Eﬁiii?it{l
oz Bz Bz 5::

Verify Rolle’s theorem for the function : o oz _o=z oz
Ou Bu a.r ay

f(x)=x3-6x2+11x—6

302 = DRG, {?} (Continued)

302_DRG (7 (Turrn
- - )https:waw.hyvnnline.ccm Resshjuniversitynews.in/ https:/fwww.hyvonline.com



(3)

Let z=f(x,»), where x=e“+e" and
y=¢¥— ¢V, then prove that
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(6)

If u=sinx.siny.sin(x+y), then find

the maximum wvaluc of w.

SH1S/ Unit-V

5. (a) Tag =ifsu:
BohTg / Unit-IV
B(m,m) = [mln
4. (o) W& @ S P
x cos o+ y sin o.= I sin o cos & F&A H Prove that -
ST T HITSE, SEl o Wed g
' P mln
Find the envelope of the family of straight B(m,n) = o
m+n
lines x cos o + y sin o = [ sin o cos o, where
Ot is parameter. @) TF ¥E wif
O s PEL o6 2aa
=T TEREOT (x + 323 +(x — y)2B=2 2?3 B} 070 Jo )
Evaluate :
Show that the evolute of the curve
. 2
x23 4 3= a2 is [ 7 e (p+2z)axdyaz
(x -+ y}2£3+(x _y)ﬂ:;:z alﬂ .
| | () fo wver § 9WRe™ w1 wH Wi .
(¢) aff u=sinx.sinylsin(x+y) B, @ u
w1 =fEss wE g wRIfag J'z!,4 f(x,y)dxdy
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Change the order of integration in the
double integral :

x

o (e y)axdy
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